IES MURILLO Maths 3r‘d ESO
NUMBERS 2
1)Work out and simplify: (2.25 p)
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2)Elisabeth buys 2/3 of a pound of grapes and 5/7 pounds of oranges. Does she buy

more grapes or more oranges? How many pounds of fruit does she buy in fotal?
(1.25 p)

3) Write each of the following expressions as a single positive power: (1.5 p)

JH
3) 2

b) 52x10%x (4%)3 _
(5%)2x272 x 43

4) Complete: (2 p)

Number to 3 s.f. to 2 s.f. to1s.f.

0.07859
4273
3.207
31006

5) Wood loses 2/9 of its weight when it dries. We bought 27000 kg of green wood
at 1.25 euros per kilo. When it dried, we sold it at 1.75 per kilo. How much have we
earned? (1.5 p)

6) Ordena de menor a mayor los siguientes nimeros decimales, clasificalos (racional
o irracional) y deduce su expresion en forma de fraccién (si se puede): (1.5 p)

1.060060006...; 1.06; 1.06; 1.0606; 106
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SOLUTIONS
1)Work out and simplify:
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2)Elisabeth buys 2/3 of a pound of grapes and 5/7 of a pound of oranges. Does she
buy more grapes or more oranges? How many pounds of fruit does she buy in total?

1415 5 2
— > she buys more oranges

2121 "7 3

+;_& 15 Q—lé She buys les of fruit in total
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3) Write each of the following expressions as a single positive power:
2 [zj I A L

3) T2 2272 3k 2
52 x10% ><(42)3 52x2%x5%x212 52xl6 pl2

°) (5%)2 x 272 x 43 C 5*x272x20 B*x2t B2
4) Complefte:
Number to 3 s.f. to 2 s.f. to1s.f.
0.07859 0.0786 0.079 0.08
4273 4270 4300 4000
3.207 3.21 3.2 3
31006 31000 31000 30000

5) Wood loses 2/9 of its weight when it dries. We bought 27000 kg of green wood
at 1.25 euros per kilo. When it dried, we sold it at 1.75 per kilo. How much have we

earned?
7 7 x27000

§of 27000 = —9 - 21000 kg we have when it dries
We have paid 1.25x27000 =33750 euros

We have bought it for 1.75x21000 = 36750 euros

We have earned 36750-33750 = 3000 euros
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6) Ordena de menor a mayor los siguientes nimeros decimales, clasificalos (racional
o irracional) y deduce su expresion en forma de fraccién (si se puede): (1.5 p)
1.060060006...; 1.06; 1.06; 1.0606; 1.06
De menor a mayor:
1.06 < 1.060060006.... < 1.0606 < 1.06 <1.06

Irracional sélo es 1.060060006.....
1.06 y 1.0606 son racionales, decimales exactos

1.06 es racional, decital periédico puro

1.06 es racional, decimal periédico mixto
En forma de fraccion:

106 53 10606 5303
106=160 ~ 50 10606 = 15000 ~ 5000
N =106=1.060606..... — restando 99N =105 >N =10—5—>1.O_6=§
100N = 106.060606.... 99 33
N=1.06 =1.06666..... 6 16
100N =106.666.... — restando 9ON:96—>N=2—0—>1-06=E

10N =10.66666.....



